Pattern Practices  Due

Use the number pattern to answer the questions

1. 4,10,16, 22, 28, ...
What is the rule for the pattern?

.................
----------------------------------

{ -Q How do you get from one
2. £5 number to the next?

----------------

What is the next number in this pattern?

: aaw
-------------------------------

2. 162,153,144,135,126, ...
What is the rule for the pattern?

What is the next number in this pattern?

Draw the next figure for each pattern. Then write the rule for the pattern.

omnonc

Theruleis
| REMEMBER Lookat
: the sizes, marks,and  :
: shapes of the figures.
4' . . .
@ @
Theruleis

32. Domain 1: Operations and Algebraic Thinking
. - ¢ - Generated by CamScanner



Pattem Roctice:  ypngsdy!

Fill in the missing numbers. Then answer the question.
5. Theruleis +9, 6. Theruleis x2.

. 2, ; ,
What do you notice about the terms?

!

What do you notice about the terms?

Choose the best answer.

7. Andy wrote the pattern below. 8. Rule:b=a+7
87, 81, 75, 69, 63 Input (2) [Output (b)
What is the rule for Andy's pattern? 1. 7
A. -6 sl 0
B. +6 e 15
C. =6
D. -7
Solve.
10. \.
Rule: x=y X3 Rule:s=t—-6 Rule:
Input (y) !omput (%) Input () [Output(s)| Input (y) [Output (x)
4. 4 .| 12 27 9
5. 6 8. 15 30 10
6 6 9 24 45 15
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Name i B e T *
Multiply Mmultiples -X'D_Ue Thu(sda"'
of 10, 100, and 1,000

You can use basic facts and patterns to help %
F 5§x500= _—
5x5= 5><50nes==25cmes¢25
5 X 50 = 5x5tens=25tens=250 - 65
5 X 500 = 5 x 5 hundreds = 25 hundreds = <
So 5 x 500 = 2,500
Use basic facts and patterns to find each product.
1. 2X6 2. 4 X7 3. 3X%X8
2 X 60 4 xX70 3 x 80
2 X 600 4 X700 3 x 800
2 X 6,000 4 X 7,000 3 x 8,000
4. 5X6 5. 9X2 6. 7 X3
5 X 60 9x20 7 X 30
5 X 600 9 X 200 7 X 300
5 x 6,000 9 x 2,000 7 X 3,000
7. 9X7 _ 8. 8x4 AL .
9X70  8X40 5 X 30
9x700 — 8 X 400 5 X 300
C it D0 8 X 4,000 5 % 3,000
: Copyright ono..gm' . . T ; _ |
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NQ“‘*’ * DuE Fm&y_t___mmpwg 3 digits by 1 dight
Il = a § ; .
| == | It's What’s Inside That Counts Eﬁ

Multiply. Then solve the riddle.

2 ;
315 206 344 746 376
X_ i X 9 X 7 X 4 x 2
LED %
A D F J P
2 941 503 626 328 642
X5 x 7 X 5 x 7 X 3
G M W o] H
3 708 569 121 936 861
X <D X-. 3 X 8 X 7 X 4
R L T \') S
4 473 613 748 712 271
X. P x 4 X 9 X 6 X 7
B Y N C E

What 8-letter word has only 1 letter in it?

e
4 .

1,260 6,732 1,807 6,732 6,552 1,897 1,707 2296 752 1,897
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Name X DUE FRIDAY! X e

Number Correct 1100
Multiplication » All The Facts
9x8=___ . B5x5=_____ 2x2=____ 3x4=__ e
§x6=_ ' Bx1=_ .  B3x4=__  1x3=m___ 2x3%__
1x0=___ . 5x8=__  Ox38=___ 2x1=____ 6x8=___
5x2=____ 4x8=____ 1x1=____ 9x0=____ 3x8=___
2x2%. ivigxBe.. 2%xB= coeix@= i UR2XTE .
SRSt OxX 7 i BaBsWl L PRBELL BX4™
1x65=_ . 2x4=__ _ 9x6=____ Bx4s TXV=
5x8r, o 09X B= . - 8x2=. .. 2x9=__ _ Ax2=__
OO0 Ly, b= «GXT=_ . 6x6=. - coAR2m .
B3 m— - BB o FxTE L BxSE LA TTBRER®.LE
8x7=___ 6x5=_" -~ 1x6=__  8x9=__ Txb=__
3xd=. - " @x1= . o 4x8= 2 Tx8=_ " THXA= - a0
Qe P XTE L REs, . ax0En C ol ERle
PSS TR S GO KOS iKEE e e 2 S
Oxfe w68 . AXBE o SXIE o 2RB= .
Tx9&! . i7x0=_ . ‘6x2=_ . ‘5xB=___  4x1s -
4x6=. > 7TX9=_ " 6XT=sdondx48 o 2%08 . o0
Ex7=.i " 4x7=_-0 - 8Bx8= o vu (TxB= 0 LX T, "
.4HXB=_______ ‘9x9=__”__-___ 3x9=_ = 2x7=__; 4x1=
DXBEL L i Bx0=. . By 3= TX = o b Bl "
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